Week 77 Frideq L0 2 pen
CO\f’lﬁﬁuou‘; iotecest and the vemarvalbble vgmbex e

guFPo&Q bank offers 100%
onno . tedest and 1€ (OMpouma\q}
%(o,ﬂ +a1n03<:»&i ( \{Mﬂxﬁ, §@Mtdf_l_(\0a)\1u)( QUMMg/ “O0 th 3}

slope 1s - mola;\(a\ ‘ QQWM i feal a\e@gs'\’( & A
avao 3

¥y=¢e
] e:\?_:?\z’m)- .

144 =2
(5 (5) = 2.28
(<iNY = 5 440006, .

A
(3N = 2.612030. .

A AN

! (\*g‘gg = 72 714867 --
Zes’.x;{%l— i \Zeiﬂﬁ.ﬁc*CﬁO
%34,.5',;«1-@(,0 = Z2.7\827 .. ..
. A . i
linn () 2 Lok egste = 2.71828. . [the number @\



For intaet wd : . i
e ¢ i (\Jr I\;\ B e(“

w\,\ 5 B n—2 ¢
L e | oF (wf-\ﬂ 24 - \W(H.‘:\n
o K" ) ik ") =N tw( = N\
We b\(\QU\) ]&\\j—;\m fa = F; o linn (\’f%_\\ﬂ = er
| | "= |
ﬂ"‘ — N \V\él*%\ o Llﬁ(\%’a "\n(i\ (\D(\*%\—-\m(l\\
o [G\

kV\ [\Jr\r\\"‘ kf\(\\ \




Hoq | 0
1 @ogm\ ch\czv\. %(Ouﬁ\/\ l&s @(&\ = VO\PU\A\(_‘N\ og\ Somn<e
Moddh qrouth: =

AP .\ *
—E‘&— = ol P ¥ o ?ww{*\@w;}ﬁ( const ok
< k< o\

g%\\)\‘\-ov\s, (e;l\/ &
oY = ) K

QJL% S A gc;\"\\c\/b’\ a&\ dP

T\ﬂa Lw&*o‘m
Also CeM o o solMan (2 um\f_m«ums K C\
low os fo colue

P (+ -1 .
2 ?2; e lhese TwO data Pom{fs al
AL enn
(\C{Qo\ © g ’QO{ uxﬂlﬁ‘uﬂuuuw% V‘; C
\O gl TR -0 0 /2 )

( 1270\ _
926 = Plo = Ce -
\O

LG= Plo\= e = zseK i
@V—-‘O ~ 6> . p K\O= \w(gé_\fo'

Qe\uafuf ¥
28" | AN
' - [n — \



Co PlN= 25 expllis W2\ &Y
D\ Fwnd popdadian i yeas 2000 (X=20\

P20 = 25 exp ( (o ¥ 2\ 20\
() Fuwd AOU\Q\MQ fioee . Exponerdiels changs additen +o

M“\*‘vj\ifd.w _ _\—\AU-"L 85 Tt)

oy, = 2 PO o St ua tiins by Ty, dobles puplder

T\ g3
eké@w _ 9ce
0 @KTO = 9 Colue Lo To \\n(z\
_ n(z2)
To —
}_'f‘_&?:.—l_——w-



#
4 gi& qyod\n Plo\= 400
Plg\= 3000

-
) ddien Coe® wah ¢ ke

(m\ ‘PMAL P (A\ = Ce | (ﬂu«'cp C/ e\ based ow doove  duda
40‘0_,‘(70\-<e -.::C C =400
0000 = P\ = 400 " T olee 4’_; K
70 - o“% o wgu w(20) 207 X
=% L o (n (20N
P(x\= “400 @\Lf( Lot & )
(LY  Fird P(“f\ P(uakw X=9 .
= % la al20)

(o Fud PlA) Use P _
X v v = Pla\= AUO@\LP( “\nl20) c{\

= L’\g \“(2"\\ 400 exp [‘g [n (20\ 1\



(AR Detexmine uu\\@v\ Pf: gO}O—D@
Slee Pa) = 20000 dor +
" Zoono = 400 exp L (5 @ >\

75:301%- = MP(%\V\(%\ 3\

(a}(& \n Yotin Q'\c,\'db \w(?g\ _ —\g) U‘(Q_O\ }

4= ntzsy 2 \n (75)
. (—‘;\lw(m\ 3 \n (20) -




i:{fg CQU\{\_\‘\lj \(\qg aQSO\\V\{ reseNoes OQ &477‘ \oé %GHU\/LB ;

b
CUUUA‘.\' 3@9—}"{"& (‘U\I\SUM{)*W{/\ S \O ga\\GﬂS-

(U\I\QL)M()"HC)\/\ N s oo 4o tod .

( off’ \Oé(\,obc\ (oé’((‘o%\z _ 106 (ho‘\\ﬂ—\
\ 5% 208 2 n
| | 2 we_ Sd -
o) Ao resedres [61»:;!Y . i <
.(0\\ Ho \w\ﬂ . %‘{0‘04\{»\ VS PRV,

@%*lgf/(w"r\ + \/@/'/((_04\2 oo s

(
Soloe der RO |+ (LoAN X (\.04\1*‘--

\10+n”\ . lé7 [N [AO‘tn’ = k@?*(O&Dﬂ'\
A - )
\ 0%= 04" = 16T % (0,04 + |
0% +1 )
n = l% i R \n (104 = (n (e 0,04+ 1
o Alpllo<\ = [ (t(ﬂ*o.o‘%ﬂ\
= S48 el —

( o less Than [G—?}



UO\ AS&U«\A\*«\{'& fesens2L et dobled *0 2\5&\@7*\0‘3 O\\ﬁ"\\"w"‘

l"\ow Mawu\ %ewvg o‘oex ’(\/\.\S \&5’\7
Nl c‘r\am%g (6T to 2Z#CT. S

Im P\(Qu(ou> ANSWA™

Jdoble the gesemes \asts

946 7% 0.0 %~ U\
= n — = 61,9240 ffewfs-

\n (104N

3

[qc&d{v\ \M_\.,C.-\/\ \eS; J‘T\ROM \C’7\\ ;



